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3.1 Resposta: O1, O2 e O6

3.2 Resposta: ψ = Ne
x
2

2λ; λ < 0.

3.3 Resposta: ∆E = 1.15 eV; λ = 1075 nm

3.4 Resposta: n = 3.97 × 107; ∆E = 7.5 × 10−8 eV

3.5 Resposta: a = 0.64 nm

3.6 a) N~ao, ver problema seguinte. b) P0 = |A+
1 |

2 = 4/π2 ; P1 = |A−

1 |
2 = 4/π2.

3.7 Resposta no enunciado.

3.8 Resposta: A =

√

256

63a
; P (E = E3) =

25

126

3.9 Resposta:

φ(p) =
1

(απh̄2)1/4
e−p2/(2αh̄2); 〈E〉 =

h̄2α

4m
.

3.10 Resposta: j(x) =
h̄k

m
u2(x)

3.11 Resposta: 〈x2p3 + 3xp3x+ p3x2〉 = 0.

1


